&
a

214F

S 4 > Caalug b gidld aadi colw
WWW.ACGIH.IR

= 214

&
&
&
&
%
&
&
&
&

R 0 o B ] 0] o o ]

&

&4

Gy yas ’V‘ €O g0 T CSlas 9 75lo! SIS S
av/vis AV d (o5) it o)

alp! ol (55 90e
S35 Sl ke W jl3g
IS Pigel i plojl

[ (1YAF) oS o Sxo (sl 4 gozmo j

EVIURR | SRpTLE Ty Q:J LA CN | 9% ob.:J

OV 150 8 kel g olaws | Jlaiel Slge olgis

Slas U | 3ylad 31 | Jloww sloni il slge sy
. \ Y (adSSl) panasi g ogee 0b; | )
- 4l Y. e sl g oby | Y
y- a9 Y M haeclloag | ¥
3 vy Y M e sl | F
" G r. wgwtige olaidl) HSE paasi g8 44 .

(S jlaaome Cu ke § o jlanies | pawidige

i Jlare ol cpaiile 31 salanw! S8 Rle 8 ped 0"5‘ o/

Bygn 1 S el onbliin b g il e e e sl 300 Ll Byl 3 A olondl paled 1 sope 3T (55158 9 3 o (g SS9 ST) iy 5 8 0 T A g 5 ik 3

N P P A LA P LA L £ IR I P S L B B A LA B



ssnovin
Stamp

ssnovin
Typewriter
سایت تخصصی دانشجویان بهداشت حرفه ای
WWW.ACGIH.IR


Y axio 214F (WYAFLS) Srio Lol dcgomo

ol (19031 dds 10 Lol jgea pus & jods o b3 Jaua Ol jade 10 Law! g Glakie 730 pos 2ol )5 Llbgls

sitlad g a5 oysas] il Kailler 38 ussisciminin cillogtachylal oo il

.'(Ml) M“, PP ‘_-2_‘2

| PART A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank.
_Then mark the correct choice on your answer sheet.

I-  Animal welfare science is an emerging field that seeks to answer questions —-----eu-e- -
by the keeping and use of animals.
1) raised 2) resolved 3) settled 4) evolved

2-  The low soil fertility problem can be ------——--—---- by applying the appropriate lime and
organic fertilizers.
1) traced 2) preceded 3) mitigated 4) necessitated

3-  The chef furnished his assistant with very explicit instructions regarding the ——------ennne-
to be used for the new dish.

1) properties 2) aesthetics 3) ceremonies 4) ingredients

4-  The problem of power cut was so important that we decided not to bother about the
other -----=-mevnv- -- issues that were not much of a concern at that time.
1) gradual 2) peripheral 3) tranquil 4) lucrative

5-  Everybody knows that Ted is a chronic procrastinator; he ------------—-- puts off doing his
assignments until the last minute.
| ) spontaneously 2) marginally 3) habitually 4) superficially

6- The world's governments have made a joint --—---mnmmnmv to significantly reduce
greenhouse gas emissions by the year 2030.
1) malady 2) determination 3) involvement 4) pledge

7-  Scientists do their best try to —---- - themselves from their biases and be objective.
1) detach 2) delete 3) ignore 4) strengthen

8- The local businessman accused the newspaper of defaming him by publishing an article
that said his company was -=----=e-eeue=- managed.
1) seriously 2) centrally 3) poorly 4) crucially

9-  Landing a plane on an aircraft carrier requires a great deal of --——-eeeeeeeen , 4S8 You can
crash if you miss the landing zone by even a little bit.
1) determination 2) precision 3) rationality 4) consultation

10-  New growth of the body’s smallest vessels, for instance, enables cancers to enlarge and
spread and contributes to the blindness that can -—--—----—-—- diabetes.

1) cause 2) halt 3) identify 4) accompany
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PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
A each space. Then mark the correct choice on your answer sheet.

Estimates of the number of humans that Earth can sustain have ranged in recent
decades from Iewer than a billion to more than a trillion. (11) =eeemememeeeeee , since
“carrying capacity” is essentially a subjective term. It makes little sense to talk about
carrying capacity in relationship to humans, (12) =—==meeemeenee- and altering both their
culture and their physical environment, (13) ---- -— can thus defy any formula
(14) ======eemeeee=- the matter. The number of people that Earth can support depends on
(15) ~========-————, on what we want to consume, and on what we regard as a crowd.

11- 1) Itis probably unavoidable that such elasticity
2) Such elasticity is probably unavoidable
3) It is such elasticity probably unavoidable
4) That it is probably unavoidable for such elasticity

12- 1) that adapt their capability 2) whose capability is adapted
3) who are capable of adaptation 4) who are capable of adapting
13- 1) therefore 2) because 3) and 4) next
14- 1) might settle 2) might be settling
3) that might settle 4) which it might settle
15- 1) how we on Earth want to live 2) Earth where we want to live
3) where we want to live in on Earth 4) where do we want to live on Earth

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

PPE Programs

The objective of the Personal Protective Equipment (PPE) program is to protect
employees from the risk of injury by creating a barrier against workplace hazards.
Personal protective equipment is not a good substitute for good engineering and
administrative controls or good work practices, but should be used in conjunction with
these controls to ensure safety and health of employees. Personal protective equipment
will be provided, used and maintained when it has been determined that its use is
required and that such use will lessen the likelihood of occupational injury and/or
illness.

This program addresses eye., face, head. foot and hand protection. Separate
programs exist for respiratory and hearing protection since the need for participation in
these programs is established through industrial hygiene monitoring.

OSHA requires employers to conduct inspection on all workplaces to determine the
need for personal protective equipment (PPE) and to help in selecting proper PPE for
task performed. For each work site. a certificate must be completed which lists the
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findings of the inspection and the specific protective equipment needed. These duties
will be distributed between OHS and supervisors.

The office of Health Safety, in conjunction with supervisors, will conduct a walk-
through survey of each work area to identify sources hazards. including impact,
penetration, compression, chemical, heat, dust, electrical sources, material handling.
and light radiation. Each survey will be documented using the Hazard Assessment
Certification Form, which identifies workplace surveyed. the person conducting the
survey. findings of potential hazards, and date of the survey.

We understand from the first paragraph that achieving the ultimate protection of
employees depends on the use of ~--—-eemeemeeme,

1) a PPE Program 2) safety measures

3) protective equipment 4) a number of measures and controls

The survey mentioned in the passage is conducted by —=-—-eeeeeuee- .

1) employees 2) OSHA 3) employers 4) supervisors

It is understood from the second paragraph that PPE programs do not cover -«--eeeeeees,

1) respiratory tract

2) digestive system

3) non-occupational injuries

4) illnesses

According to the passage, the findings of each survey are assessed by -—-eeeeeeeaeees .

1) employers 2) OSHA 3) supervisors 4) conductors

The term underlined "walk-through" in the last paragraph is closest in meaning to —---

1) detailed 2) defective 3) characteristic 4) dynamic
PASSAGE 2:
Non-Destructive Inspection

Non-Destructive Inspection (NDI) is the examination of an object or material with
technology that does not affect its future usefulness. NDI can be used without
destroying or damaging a product or material. Because it allows inspection without
interfering with a product’s final use, NDI provides an excellent balance between
quality control and cost-effectiveness. The term NDI includes many methods that can:

1. detect internal and external imperfections

2. determine structure. composition, or material properties

3. measure geometric characteristic

NDI can and should be used in any phase of a product's design and manufacturing
process, including materials selection. research and development. assembly, quality
control and maintenance.

Non-Destructive Inspection (NDI) is a method of materials characterization very
important to the materials engineer. Problems and defects of all kinds arise in the
development and use of material devices, electrical equipment, hydraulic systems.
transportation mechanisms and the like. However, an extremely wide range of non-
destructive testing methods are available to help the engineer to examine these
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different problems and various defects in an assessment of materials and under varying
circumstances.

Commonly used non-destructive methods include liquid penetrate, magnetic
particle, eddy current and radiographic inspection, ultrasonic inspection, tomography.
and real-time radiography.

The underlined "it" in the first paragraph refers to —-------—=-——-- .

1) product’s final use 2) examination of an object

3) product's future usefulness 4) NDI

The three ultimate goals mentioned in paragraph one belong to —----e-eeeeeeee,
1) a product’s final usefulness 2) problems and defects

3) NDI technology 4) methods of NDI

The areas in which NDI has the most uses are mentioned in —----seeeeeaeee,

1) paragraph three 2) paragraph two

3) paragraph one 4) the whole passage

The last paragraph mainly discusses the —=-==== 0f NDI's.

1) phases 2) goals 3) methods 4) materials
According to the passage, -----------—--- make the most use of NDI's.

1) materials engineers 2) technical inspectors

3) quality controllers 4) production system designers
PASSAGE 3:

In 1989, the oil tanker Exxon-Valdez ran aground on a reef in Prince William Sound in
Alaska spilling 11 million gallons of oil. The spill fouled up about 1300 miles of
shoreline and caused the death of some 300.000 birds. One of the most vibrant
ecosystems on planet Earth was gravely affected by this horrendous disaster.

Now, about twelve years later, journalists and television news reporters have
returned to the scene to look for signs of lingering damage or alternatively of positive
healing. It comes as no surprise that they report they have found both. although the
balance still tips heavily in favor of damage.

On the damage side, oily residues still continue to mar the beaches while traces of
oil are still staining the waters off the coast. The once bountiful herring population is
now drastically reduced, thus affecting the entire food web. Earlier. 2600 sea otters
had perished and there are no signs that the sea otter will ever recover from this initial
blow. Many bird species have also similarly not quite recovered and this includes
species such as the cormorant, the guillemot, and the marbled murelet.

Equally serious, if not more so. reporters have discovered the presence of
polycyclic aromatic hydrocarbons in stream beds at concentration levels exceeding the
maximum allowed by the state. If prompt action is not taken, these hydrocarbons will
continue to harm and possibly kill young salmon for years to come.

Human destinies have also been affected. The livelihood of fishermen has been
seriously threatened and although in the days following the spill. they have
successfully sued Exxon company for damages, they have yet to see a penny of the
award. This is because Exxon is appealing against the award of US$5 billion. While
waiting for the appeal to come through. bitterness continues to be rife among the
fishermen.
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On the healing side, reporters have noted that the bald eagle has made complete
recovery. The outlook also seems good for inter-tidal and sub-tidal communities.

From paragraph 2, you can infer that -----—e-eeeeeee,

1) televising the actual evidence is the best proof

2) the effects of an oil spill takes years to overcome

3) healing always takes place after an oil spill

4) journalists want to report the truth

"The concentration levels of polycyclic aromatic hydrocarbons are very high in stream
beds". What inference can be drawn from this about the nature of pollution?
1) pollution levels are getting higher.

2) the outcome of an oil spill is hydrocarbons.

3) pollution from the sea is filtering into the rivers.

4) the outcome of an oil spill must be constantly monitored.

From paragraph 4, it's inferred that ----- ,

1) salmons produce their young in upstream rivers

2) young salmons are hatched from eggs

3) salmons like rivers for safety

4) young salmons are born alive

In general, an oil spill ---eeecemaeaac,

1) causes the death of thousands of birds  2) causes the death of thousands of animals
3) affects the entire planet Earth 4) affects the ecosystem

The fishermen's bitterness was increased because -------eeemeeev,

1) they are afraid they might lose their money since Exxon is appealing

2) they did not receive any money from the award

3) there is no more fish to catch

4) their environment is destroyed
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